Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 02/27/2025

Engineer: 1794

CMS-BM-003

Firm Name: HDR ENGINEERING INC.

Contract T90CN08

Track State of Good Repair Contract 1, Systemwide,

MA

Bidder: 4606

Railroad- SPS New England, A Joint Venture, LLC Firm Name:

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.031	TRAFFIC CONTROL SERVICE	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0140.146	EQUIPMENT RENTAL: VACUUM TRUCK AND OPERATOR	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
0170.534	MOBILIZATION-OL-OAK GROVE TO NORTH STATION	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0170.535	MOBILIZATION-BL-BOWDOIN TO AIRPORT	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0170.536	MOBILIZATION-RL-NORTH QUNICY TO BRAINTREE	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0170.537	MOBILIZATION-BL-AIRPORT TO WONDERLAND	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0170.538	MOBILIZATION-GL-RIVERSIDE TO KENMORE	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0170.539	MOBILIZATION-GL-COPLEY TO B, C, AND D PORTALS	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 02/27/2025

Engineer: 1794

Firm Name: HDR ENGINEERING INC.

CMS-BM-003

Contract T90CN08

Track State of Good Repair Contract 1, Systemwide,

MA

Bidder:

Railroad- SPS New England, A Joint Venture, LLC Firm Name:

4606

				Eng	jineer	Bi	dder	Vai	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0221.367	ALL OTHER SOIL HANDLING AND DISPOSAL	AN	1	\$350,000.00	\$350,000.00	\$350,000.00	\$350,000.00	\$0.00	\$0.00
0222.701	FULL DEPTH TRACK REPLACEMENT	TF	780	\$1,280.00	\$998,400.00	\$1,000.00	\$780,000.00	(\$280.00)	(\$218,400.00)
0222.702	TRUCK PAD REPLACEMENT	TF	200	\$1,900.00	\$380,000.00	\$1,000.00	\$200,000.00	(\$900.00)	(\$180,000.00)
0222.703	PLATE RESET	EA	1,115	\$285.00	\$317,775.00	\$390.00	\$434,850.00	\$105.00	\$117,075.00
0222.704	RESTRAINING RAIL SPOT PLATE REPLACEMENT	EA	970	\$425.00	\$412,250.00	\$625.00	\$606,250.00	\$200.00	\$194,000.00
0222.705	ADD SCREW SPIKE	EA	3,750	\$25.00	\$93,750.00	\$60.00	\$225,000.00	\$35.00	\$131,250.00
0222.706	EMERGENCY GUARDRAIL RESET	TF	1,750	\$175.00	\$306,250.00	\$80.00	\$140,000.00	(\$95.00)	(\$166,250.00)
0222.707	DESTRESSING RAIL	LF	20,500	\$24.00	\$492,000.00	\$20.00	\$410,000.00	(\$4.00)	(\$82,000.00)
0222.708	FURNISH AND INSTALL BALLAST	TN	5,250	\$133.00	\$698,250.00	\$362.00	\$1,900,500.00	\$229.00	\$1,202,250.00

CMS-BM-003

Firm Name: HDR ENGINEERING INC.

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 02/27/2025

Contract T90CN08

Engineer: 1794

Track State of Good Repair Contract 1, Systemwide,

MA

Bidder: 4606

Railroad- SPS New England, A Joint Venture, LLC Firm Name:

				En	gineer	В	idder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0222.709	SPECIAL TRACKWORK- FROG	EA	6	\$11,300.00	\$67,800.00	\$20,500.00	\$123,000.00	\$9,200.00	\$55,200.00
0222.710	SPECIAL TRACKWORK- FROG GUARD	EA	6	\$6,275.00	\$37,650.00	\$14,200.00	\$85,200.00	\$7,925.00	\$47,550.00
0222.711	SPECIAL TRACKWORK- STOCK RAIL AND SWITCH POINT	EA	10	\$18,825.00	\$188,250.00	\$19,500.00	\$195,000.00	\$675.00	\$6,750.00
0222.712	SPECIAL TRACKWORK- SWITCH TIMBERS (9'-12' LENGTH)	EA	135	\$4,900.00	\$661,500.00	\$2,900.00	\$391,500.00	(\$2,000.00)	(\$270,000.00)
0222.713	SPECIAL TRACKWORK- SWITCH TIMBERS (13'-16' LENGTH)	EA	105	\$5,650.00	\$593,250.00	\$3,200.00	\$336,000.00	(\$2,450.00)	(\$257,250.00)
0222.714	SPECIAL TRACKWORK- SWITCH TIMBERS (GREATER THAN 16' LENGTH)	EA	83	\$6,200.00	\$514,600.00	\$4,500.00	\$373,500.00	(\$1,700.00)	(\$141,100.00)
0222.715	RESTRAINING RAIL REPLACEMENT	LF	1,500	\$715.00	\$1,072,500.00	\$470.00	\$705,000.00	(\$245.00)	(\$367,500.00)
0290.259	TAMP, SURFACE AND ALIGN TRACK	LF	45,000	\$37.50	\$1,687,500.00	\$50.00	\$2,250,000.00	\$12.50	\$562,500.00
0290.339	CWR REPLACEMENT	LF	29,500	\$200.00	\$5,900,000.00	\$160.00	\$4,720,000.00	(\$40.00)	(\$1,180,000.00)

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 02/27/2025

Engineer: 1794

Contract T90CN08

Bidder: 4606

Firm Name: HDR ENGINEERING INC.

CMS-BM-003

Track State of Good Repair Contract 1, Systemwide, MA

Firm Name:

Railroad- SPS New England, A Joint Venture, LLC

				E	ingineer	i	Bidder	Va	ariance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0291.706	THERMITE WELDS	EA	618	\$2,850.00	\$1,761,300.00	\$5,800.00	\$3,584,400.00	\$2,950.00	\$1,823,100.00
0291.797	THIRD RAIL INSULATOR INSTALL	EA	300	\$320.00	\$96,000.00	\$350.00	\$105,000.00	\$30.00	\$9,000.00
0294.011	SPOT TIE REPLACEMENT	EA	4,250	\$1,130.00	\$4,802,500.00	\$815.00	\$3,463,750.00	(\$315.00)	(\$1,338,750.00)
0294.048	SPOT TIE PLATE REPLACEMENT	EA	2,110	\$285.00	\$601,350.00	\$440.00	\$928,400.00	\$155.00	\$327,050.00
0294.109	SPOT RAIL REPLACEMENT	LF	4,130	\$350.00	\$1,445,500.00	\$240.00	\$991,200.00	(\$110.00)	(\$454,300.00)
1600.359	ELECTRICAL WORK	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
	Total Esti	Bid:	\$24,978,375.00		\$24,798,550.00		(\$179,825.00)		
	Contract Total -	\$24,978,375.00		\$24,798,550.00		(\$179,825.00)			

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 02/27/2025

Engineer: 1794

Contract T90CN08

Bidder: 4533

Firm Name: HDR ENGINEERING INC.

CMS-BM-003

Track State of Good Repair Contract 1, Systemwide, MA

Firm Name:

Skanska Usa Civil Northeast, Inc.

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.031	TRAFFIC CONTROL SERVICE	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0140.146	EQUIPMENT RENTAL: VACUUM TRUCK AND OPERATOR	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
0170.534	MOBILIZATION-OL-OAK GROVE TO NORTH STATION	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0170.535	MOBILIZATION-BL-BOWDOIN TO AIRPORT	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0170.536	MOBILIZATION-RL-NORTH QUNICY TO BRAINTREE	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0170.537	MOBILIZATION-BL-AIRPORT TO WONDERLAND	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0170.538	MOBILIZATION-GL-RIVERSIDE TO KENMORE	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0170.539	MOBILIZATION-GL-COPLEY TO B, C, AND D PORTALS	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 02/27/2025

Engineer: 1794

Contract T90CN08

Bidder: 4533

Firm Name: HDR ENGINEERING INC.

CMS-BM-003

Track State of Good Repair Contract 1, Systemwide, MA

Firm Name:

Skanska Usa Civil Northeast, Inc.

				Eng	ineer	В	idder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0221.367	ALL OTHER SOIL HANDLING AND DISPOSAL	AN	1	\$350,000.00	\$350,000.00	\$350,000.00	\$350,000.00	\$0.00	\$0.00
0222.701	FULL DEPTH TRACK REPLACEMENT	TF	780	\$1,280.00	\$998,400.00	\$1,319.00	\$1,028,820.00	\$39.00	\$30,420.00
0222.702	TRUCK PAD REPLACEMENT	TF	200	\$1,900.00	\$380,000.00	\$2,500.00	\$500,000.00	\$600.00	\$120,000.00
0222.703	PLATE RESET	EA	1,115	\$285.00	\$317,775.00	\$320.00	\$356,800.00	\$35.00	\$39,025.00
0222.704	RESTRAINING RAIL SPOT PLATE REPLACEMENT	EA	970	\$425.00	\$412,250.00	\$475.00	\$460,750.00	\$50.00	\$48,500.00
0222.705	ADD SCREW SPIKE	EA	3,750	\$25.00	\$93,750.00	\$85.00	\$318,750.00	\$60.00	\$225,000.00
0222.706	EMERGENCY GUARDRAIL RESET	TF	1,750	\$175.00	\$306,250.00	\$250.00	\$437,500.00	\$75.00	\$131,250.00
0222.707	DESTRESSING RAIL	LF	20,500	\$24.00	\$492,000.00	\$40.00	\$820,000.00	\$16.00	\$328,000.00
0222.708	FURNISH AND INSTALL BALLAST	TN	5,250	\$133.00	\$698,250.00	\$235.00	\$1,233,750.00	\$102.00	\$535,500.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 02/27/2025

Engineer: 1794

Contract T90CN08

Bidder: 4533

Firm Name: HDR ENGINEERING INC.

CMS-BM-003

Track State of Good Repair Contract 1, Systemwide,

MA

Firm Name:

Skanska Usa Civil Northeast, Inc.

				En	gineer	В	idder	Vai	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0222.709	SPECIAL TRACKWORK- FROG	EA	6	\$11,300.00	\$67,800.00	\$23,000.00	\$138,000.00	\$11,700.00	\$70,200.00
0222.710	SPECIAL TRACKWORK- FROG GUARD	EA	6	\$6,275.00	\$37,650.00	\$20,500.00	\$123,000.00	\$14,225.00	\$85,350.00
0222.711	SPECIAL TRACKWORK- STOCK RAIL AND SWITCH POINT	EA	10	\$18,825.00	\$188,250.00	\$30,000.00	\$300,000.00	\$11,175.00	\$111,750.00
0222.712	SPECIAL TRACKWORK- SWITCH TIMBERS (9'-12' LENGTH)	EA	135	\$4,900.00	\$661,500.00	\$6,100.00	\$823,500.00	\$1,200.00	\$162,000.00
0222.713	SPECIAL TRACKWORK- SWITCH TIMBERS (13'-16' LENGTH)	EA	105	\$5,650.00	\$593,250.00	\$7,000.00	\$735,000.00	\$1,350.00	\$141,750.00
0222.714	SPECIAL TRACKWORK- SWITCH TIMBERS (GREATER THAN 16' LENGTH)	EA	83	\$6,200.00	\$514,600.00	\$8,000.00	\$664,000.00	\$1,800.00	\$149,400.00
0222.715	RESTRAINING RAIL REPLACEMENT	LF	1,500	\$715.00	\$1,072,500.00	\$420.00	\$630,000.00	(\$295.00)	(\$442,500.00)
0290.259	TAMP, SURFACE AND ALIGN TRACK	LF	45,000	\$37.50	\$1,687,500.00	\$45.00	\$2,025,000.00	\$7.50	\$337,500.00
0290.339	CWR REPLACEMENT	LF	29,500	\$200.00	\$5,900,000.00	\$190.00	\$5,605,000.00	(\$10.00)	(\$295,000.00)

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 02/27/2025

4533

Engineer: 1794

Firm Name: HDR ENGINEERING INC.

CMS-BM-003

Contract T90CN08

Track State of Good Repair Contract 1, Systemwide,

MA

Bidder:

Firm Name: Skanska Usa Civil Northeast, Inc.

				E	ingineer	E	Bidder	Va	ariance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0291.706	THERMITE WELDS	EA	618	\$2,850.00	\$1,761,300.00	\$4,350.00	\$2,688,300.00	\$1,500.00	\$927,000.00
0291.797	THIRD RAIL INSULATOR INSTALL	EA	300	\$320.00	\$96,000.00	\$600.00	\$180,000.00	\$280.00	\$84,000.00
0294.011	SPOT TIE REPLACEMENT	EA	4,250	\$1,130.00	\$4,802,500.00	\$1,210.00	\$5,142,500.00	\$80.00	\$340,000.00
0294.048	SPOT TIE PLATE REPLACEMENT	EA	2,110	\$285.00	\$601,350.00	\$400.00	\$844,000.00	\$115.00	\$242,650.00
0294.109	SPOT RAIL REPLACEMENT	LF	4,130	\$350.00	\$1,445,500.00	\$241.00	\$995,330.00	(\$109.00)	(\$450,170.00)
1600.359	ELECTRICAL WORK	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
	Total Esti	Bid:	\$24,978,375.00		\$27,900,000.00		\$2,921,625.00		
	Contract Total - Base Bid and Alternates:				\$24,978,375.00		\$27,900,000.00		\$2,921,625.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 02/27/2025

Engineer: 1794

Contract T90CN08

Bidder: 2997

Firm Name: HDR ENGINEERING INC.

CMS-BM-003

Track State of Good Repair Contract 1, Systemwide, MA

The Middlesex Corp. Firm Name:

				Eng	ineer	Bio	lder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.031	TRAFFIC CONTROL SERVICE	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0140.146	EQUIPMENT RENTAL: VACUUM TRUCK AND OPERATOR	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
0170.534	MOBILIZATION-OL-OAK GROVE TO NORTH STATION	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0170.535	MOBILIZATION-BL-BOWDOIN TO AIRPORT	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0170.536	MOBILIZATION-RL-NORTH QUNICY TO BRAINTREE	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0170.537	MOBILIZATION-BL-AIRPORT TO WONDERLAND	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0170.538	MOBILIZATION-GL-RIVERSIDE TO KENMORE	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0170.539	MOBILIZATION-GL-COPLEY TO B, C, AND D PORTALS	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 02/27/2025

Engineer: 1794

Contract T90CN08

Bidder: 2997

Firm Name: HDR ENGINEERING INC.

CMS-BM-003

Track State of Good Repair Contract 1, Systemwide, MA

Firm Name:

The Middlesex Corp.

				Eng	jineer	В	idder	Var	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0221.367	ALL OTHER SOIL HANDLING AND DISPOSAL	AN	1	\$350,000.00	\$350,000.00	\$350,000.00	\$350,000.00	\$0.00	\$0.00
0222.701	FULL DEPTH TRACK REPLACEMENT	TF	780	\$1,280.00	\$998,400.00	\$1,200.00	\$936,000.00	(\$80.00)	(\$62,400.00)
0222.702	TRUCK PAD REPLACEMENT	TF	200	\$1,900.00	\$380,000.00	\$2,550.00	\$510,000.00	\$650.00	\$130,000.00
0222.703	PLATE RESET	EA	1,115	\$285.00	\$317,775.00	\$375.00	\$418,125.00	\$90.00	\$100,350.00
0222.704	RESTRAINING RAIL SPOT PLATE REPLACEMENT	EA	970	\$425.00	\$412,250.00	\$1,054.00	\$1,022,380.00	\$629.00	\$610,130.00
0222.705	ADD SCREW SPIKE	EA	3,750	\$25.00	\$93,750.00	\$100.00	\$375,000.00	\$75.00	\$281,250.00
0222.706	EMERGENCY GUARDRAIL RESET	TF	1,750	\$175.00	\$306,250.00	\$250.00	\$437,500.00	\$75.00	\$131,250.00
0222.707	DESTRESSING RAIL	LF	20,500	\$24.00	\$492,000.00	\$75.00	\$1,537,500.00	\$51.00	\$1,045,500.00
0222.708	FURNISH AND INSTALL BALLAST	TN	5,250	\$133.00	\$698,250.00	\$300.00	\$1,575,000.00	\$167.00	\$876,750.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 02/27/2025

Engineer: 1794

Contract T90CN08

Bidder: 2997

Firm Name: HDR ENGINEERING INC.

CMS-BM-003

Track State of Good Repair Contract 1, Systemwide,

MA

Firm Name:

The Middlesex Corp.

				En	gineer	Ві	dder	Vai	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0222.709	SPECIAL TRACKWORK- FROG	EA	6	\$11,300.00	\$67,800.00	\$25,000.00	\$150,000.00	\$13,700.00	\$82,200.00
0222.710	SPECIAL TRACKWORK- FROG GUARD	EA	6	\$6,275.00	\$37,650.00	\$25,000.00	\$150,000.00	\$18,725.00	\$112,350.00
0222.711	SPECIAL TRACKWORK- STOCK RAIL AND SWITCH POINT	EA	10	\$18,825.00	\$188,250.00	\$50,000.00	\$500,000.00	\$31,175.00	\$311,750.00
0222.712	SPECIAL TRACKWORK- SWITCH TIMBERS (9'-12' LENGTH)	EA	135	\$4,900.00	\$661,500.00	\$2,300.00	\$310,500.00	(\$2,600.00)	(\$351,000.00)
0222.713	SPECIAL TRACKWORK- SWITCH TIMBERS (13'-16' LENGTH)	EA	105	\$5,650.00	\$593,250.00	\$3,300.00	\$346,500.00	(\$2,350.00)	(\$246,750.00)
0222.714	SPECIAL TRACKWORK- SWITCH TIMBERS (GREATER THAN 16' LENGTH)	EA	83	\$6,200.00	\$514,600.00	\$4,500.00	\$373,500.00	(\$1,700.00)	(\$141,100.00)
0222.715	RESTRAINING RAIL REPLACEMENT	LF	1,500	\$715.00	\$1,072,500.00	\$450.00	\$675,000.00	(\$265.00)	(\$397,500.00)
0290.259	TAMP, SURFACE AND ALIGN TRACK	LF	45,000	\$37.50	\$1,687,500.00	\$42.00	\$1,890,000.00	\$4.50	\$202,500.00
0290.339	CWR REPLACEMENT	LF	29,500	\$200.00	\$5,900,000.00	\$195.00	\$5,752,500.00	(\$5.00)	(\$147,500.00)

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 02/27/2025

Engineer: 1794

Contract T90CN08

Bidder: 2997

Firm Name: HDR ENGINEERING INC.

CMS-BM-003

Track State of Good Repair Contract 1, Systemwide,

MA

The Middlesex Corp. Firm Name:

				E	ingineer	E	Bidder	V	ariance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0291.706	THERMITE WELDS	EA	618	\$2,850.00	\$1,761,300.00	\$5,870.00	\$3,627,660.00	\$3,020.00	\$1,866,360.00
0291.797	THIRD RAIL INSULATOR INSTALL	EA	300	\$320.00	\$96,000.00	\$293.00	\$87,900.00	(\$27.00)	(\$8,100.00)
0294.011	SPOT TIE REPLACEMENT	EA	4,250	\$1,130.00	\$4,802,500.00	\$1,100.00	\$4,675,000.00	(\$30.00)	(\$127,500.00)
0294.048	SPOT TIE PLATE REPLACEMENT	EA	2,110	\$285.00	\$601,350.00	\$350.00	\$738,500.00	\$65.00	\$137,150.00
0294.109	SPOT RAIL REPLACEMENT	LF	4,130	\$350.00	\$1,445,500.00	\$203.00	\$838,390.00	(\$147.00)	(\$607,110.00)
1600.359	ELECTRICAL WORK	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
	Total Esti	Bid:	\$24,978,375.00 ———		\$28,776,955.00		\$3,798,580.00		
	Contract Total -	tes:	\$24,978,375.00		\$28,776,955.00		\$3,798,580.00		

Date/Time:

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 02/27/2025

Contract T90CN08

Engineer: 1794

Firm Name: HDR ENGINEERING INC.

Report ID: CMS-BM-003

Track State of Good Repair Contract 1, Systemwide,

MA

Bidder: 2997

Firm Name: The Middlesex Corp.

_	Engineer	Bidder	Variance
Total Type Basic =	\$24,978,375.00	\$28,776,955.00	(\$3,798,580.00)
Contract Total - Base Bid and Alternates:	\$24,978,375.00	\$28,776,955.00	(\$3,798,580.00)

Date/Time:

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 02/27/2025

Contract T90CN08

Engineer: 1794

Report ID:

1704

CMS-BM-003

Firm Name: HDR ENGINEERING INC.

Track State of Good Repair Contract 1, Systemwide,

MA

Bidder: 4533

Firm Name: Skanska Usa Civil Northeast, Inc.

	Engineer	Bidder	Variance
Total Type Basic =	\$24,978,375.00	\$27,900,000.00	(\$2,921,625.00)
Contract Total - Base Bid and Alternates:	\$24,978,375.00	\$27,900,000.00	(\$2,921,625.00)

CMS-BM-003

Firm Name: HDR ENGINEERING INC.

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 02/27/2025

Contract T90CN08

Engineer: 1794

Track State of Good Repair Contract 1, Systemwide,

MA

Bidder: 4606

Railroad- SPS New England, A Joint Venture, LLC Firm Name:

	Engineer	Bidder	Variance
Total Type Basic =	\$24,978,375.00	\$24,798,550.00	\$179,825.00
Contract Total - Base Bid and Alternates:	\$24,978,375.00	\$24,798,550.00	\$179,825.00